20198t = HA X | d TI30AMA[= 2]
e 2o ar(a) | =Zoaoe)| s2us-a) SEL
ItHz 49 | 145,320,000 | 145,320,000 0
EOIDSME LPHBRIHI 20EE  8HA * 18,0002 * 120 | 34560000
SO SME YPrBRlH 20BE « 7HA + 15,0008 « 1294 | 25200000
IR S HIEl QUBHRIRIH 20B S « 7HHA « 16,0008 * 1294 | 26,880,000
HQITRME QOB 0B E « 2 A + 18,0002 « 12942 | 12960000
HQITRME QOB G0 E « 1A * 16,0008 « 12942 | 5.760.000
HQITRME QOB G0 E « 1A * 17,0002 « 12242 | 6120000
HQITRME QOB A0 E « 1A * 17,0002 « 12942 | 6160000
ZAEFAHAE dBt2eld 408E x 104! « 18,0008 ~ 12J1& | 8,640,000
AADFHE dBt2e|H 602 x 1A * 17,000& = 12H& | 12,240,000
TIPS ME HASE 20HA « 400,000% * 6IHE | 4800.000
73,334,000 | 144,059,000 | 70,725,000
40,000,000 | 44,059,000 | 4,059,000 |HUBSMEH SAIIYE A2 44,059,000
33,334,000 | 100,000,000 | 66,666,000 |&HeIBSMEH AIIE NAZ 15,000,000
HASSHE OHAAl XA = 35,000,000
OFAFAI B! &4 BHANR! ] 20,000,000
OHAAl A HE S SHALY 30,000,000
48,000,000 | 44,000,000 | 4,000,000
12,000,000 | 12,000,000 0|2 saE z=em 2E0IR2 40HAF « 3,000,0008 | 120000
36,000,000 | 32,000,000 | —4,000,000 |1E+SI DHE 240l 2 &DIS 2 32,000,000
1,500,000 | 2,224,350 724,350
1,000,000 | 1,724,350 724,350 BN 1 724,350
500,000 500,000 0 g9 500,000
12,000,000 | 12,000,000 0
12,000,000 | 12,000,000 0 =SZ2 447 * 3,000,008 | 12000000
89,300,260 | 89,300,260 0 | Ofg 9,500,260
369,454,260 | 436,903,610 | 67,449,350




3F NS0AN[XER]

o= =0l &AM (A) | =0l AA(B)| S22 (B-A) SHELHY
X &2 A 73,334,000 | 144,059,000 | 70,725,000
el2A4t| 24,000,000 | 30,000,060 6,000,060
0 [ZY2SHE 2 LXK 2248 3,333,340 = 9H& | 30,000,060
JlEasal 49,334,000 | 114,058,940 | 64,724,940
FUEFUH XMW S5 2 34| A& 1,000,0008 « 5HA [ 13,000,000
FHEs4E S20EHl XI& 600,000 *6IHAH 4,000,000
HAPSME AMSRIZY X2 1,000,0002 *15J4At| 38,000,000
HADSHE UM RSH X2(2= 8) 2,400,000
JIEt2 | 1,658,940
LTI AL 5,000,000
OHAMAI-H U B ALY 30,000,000
OFAMAI-EH A B A5 At 20,000,000
ggraeldl | 159,268,000 | 156,992,350 [ -2,275,650
WHAL S 60,250,000 | 62,316,708 2,066,708
HEESs4dEH 2849 500,000& » 1292 | 6,000,000
TP SHE M LM 2248 3,333,3408 * 4J4& | 13,333,360
HAUBSME 25 0HLIKN 1218] 1,750,000 * 12042 | 21,000,000
SIS FHE I HEH 600,000 = 298 = 23] | 2,400,000
HEEFUEH B RS2 350,000 » 2% ~ 12042 | 8,400,000
SABFHE LM &013 3,333,340+1,750,0002 | 5,083,340
SHEFHH EFIHE S0 « 2% » 60% ~ 22 | 6,100,008
A2 4,750,000 5,083,340 333,340
HUERHEH 82 UM EXS 3,333,340
HEESs4dH 25 UM &8 3 1,750,000
Scl= 4| 1,200,000 1,200,000 0 [ZHESHH =cl=4H] 100,0008 = 1294& | 1,200,000
Ol SHl 2,400,000 3,800,000 1,400,000 (2 HEF4IH 04 W SHI 317,000& = 1294& | 3,800,000
MEy=ts] 3,800,000 3,800,000 0 [ZY=2=sHE WISl 1,900,000& » 2 | 3,800,000
2234 600,000 600,000 0 [ZHE2SHEH A2FH| 100,0008 * 64 600,000
R =4l 4,500,000 3,500,000 | -1,000,000
FoISHE UFIIY (E DAY 200,0002 * 12948 [ 1,000,000
HPFHE IJI2 2 LABI 100,0002 * 12218 [ 1,200,000
HPEFHEH 2t@ S 100,000 * 63l 300,000
FHESHH JIEt YRFAHI 1,000,000
3l o/ 2,200,000 1,000,000 | -1,200,000
HYESKUE 2SI 324l 200,0008 = 63]| 1,200,000
SAEFHEH 22 AlHI 100,000& * 103 1,000,000
(=M= 5,000,000 8,000,000 3,000,000
HUEFHH A=5=2 MMM R 4,000,000
FEEFHH EXAMN EF 1,000,000




20198t = HAXJAC FIOIEE NS0 AN [XIEL]
n= 20 AA(A) | FZ0AA(B)| S2AU(B-A) MEUS
AASSHH ZIHLBFHEHE I AH3lHl| 1,600,000
AASSHH MBS FSHEHE S AH3lHl| 1,400,000
Z ool M HI 500,000 500,000 0 [ZLESHEH M= L SAHI 500,000
=24l 1,500,000 1,500,000 0 (EYE=HEH =2 1,500,000
=&l 66,868,000 | 50,000,000 | -16,868,000
HAEFHH H. 42| 2=2ld] 3,600,000& *43]| 10,800,000
AP SMEH WRIHOIE RXE22 110,0008 « 123] | 1,320,000
HABRUH EA 292 2,519,0008 = 123 | 30,228,000
ZABSHME UWEYT SXI2A2IH 110,0008 = 123/ [ 1,320,000
HAULSSHE HEAD AFRE 400,0008 * 123 | 4,800,000
AAPSHE JEF AFS 22l 1,532,000
JIEt Bhatel 5,700,000 15,692,302 9,992,302
ZADSHME LR LFAALZ 30,0008 « 4% = 103[ 1,200,000
ZADSHME 22 AFAMAZ 50,0008 « 22 = 103 1,000,000
HHEESHEH SMS AHEZ 240,000
HAE=HH JIEF 29 &I 13,252,302
DETARIE| 91,300,260 [ 90,300,260 [ —-1,000,000
AABFHEH 22 01€ 2
#i3sasasxs| 89,300,260 | 89,300,260 0-gEs4dH HII0=2 88,100,260& 89,300,260
- &J10=2 Ol At 1,200,000&
HIIHIZFSK S 2,000,000 1,000,000 | -1,000,000 |- &L ESHH HIIHIS 1,000,000
DY A 12,000,000 | 12,000,000 0
dEsaerE| 12,000,000 12,000,000 0|- 2eEsdH Y253 4HSH » 3,000,000& | 12,000,000
el X2 | 33,552,000 [ 33,552,000 0|(XE= 01 2) 33,552,000
369,454,260 | 436,903,610 | 67,449,350
0
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